— Instruction Manual —

BA8/73

Installation Instructions for the Fixed Height Ultimate Series
42" x 72" Glass/Polycarbonate Backboard

Customer Service
(800) 247-7668

Warning!!!

The Extension Arm is EXTREMELY heavy!Stay Away from the area Below the Extension Arm/
Backboard while installing or adjusting! Serious injury or death may occur.

PARTS LIST

Item Qty | Description Item Qty | Description
A 1 BA42RG / BA42RU BackBoard C 2 3/8” Flat Washers
B 4 3/8” Hex Nuts D 4 3/8” Lock Washers

+ Inspect all contents prior to installation. Report any missing parts to dealer immediately.

+ Read all instructions before proceeding.

Notice:
These instructions only address the installation of the 42 X 72 glass or polycarbonate backboard to

the Ultimate Series Pole System. Use the BA871, BA872 instructions located in the pole system
hardware box for correct pole and extension arm installation.

1. Remove the 3/8” Hex Nuts (B), 3/8 Flat Washers (C) and 3/8”” Lock Washers (D) that are factory
installed on the BA42RG/BA42RU BackBoard (A) assembly.

2. Align BA42RG/BA42RU Backboard (A) with the holes in the backboard mount plate on the extension
arm and slide threaded studs through the holes as shown in the illustration on page 2.

3. Reinstall 3/8”” Hex Nuts (B), 3/8”” Flat Washers (C) and 3/8”” Lock Washers (D) to the threaded studs.
(Bottom mount position will only accept the 3/8” Hex Nut (B) and 3/8”* Lock Washer (D) due to space
constraints.)

4. Install rim through holes with spacers using the hardware provided with the rim. Tubular backboard
spacers are to be left in place to support the rim.

Date: 7/24/07 Rev: 1 B.A. N.J.C. File:://publisher/instructions/873.pub Ref#:940351

1



QRRRRS

ORXX: HXIRIXKHKHKIKRKRKXRN,
\\ «0000“00 XXX KRRKKL 000 00000000000000000‘0000000000
XXX RRRRERRRRXXKS
900 = = = =

/ «oooo

A
XXX\
&
b

XK
XK
SR

SRR THIKN
X XXIRRRRIILA
Sonsnnsstetetototatatetetetotorniaietetotototaietetototoy




